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For each of the following questions, choose the most appropriate answer from the
following choices. (% 104> * 383 4 » % 30 4 )

Socialcultural Theorists believe that second language acquisition

(A) is not a purely individual-based process but shared between the |nd|V|duaI and others
(B) does not take place through dialogic interaction with more capable peers

(C) occurs as a result of interaction between speakers rather than in the interaction

(D) is the result of a functioning language acquisition device that is located in our heads

Which of the following is NOT correct concerning learners monitoring their own language output?
(A) Advance learners are capable of correcting a large percentage of their errors.

(B) Learners focus on correcting content words rather than function words due to attentional
limitations.

(C) The number and nature of the errors that learners monitor is related to their overall proficiency.
(D) Monitoring plays a major role in assisting learners’ second language acquisition.

Which of the following is NOT the reason for the decline of Audiolingualism?
(A) Students were unable to transfer skills acquired to real communication outside the classroom.

(B) Ordinary linguistic behavior characteristically involves innovation, which is promoted in
Audiolingualism.

(C) Audiolingual method involves students with practice activities for meaningful learning and
language use.

(D) Audiolingual method is rooted in behaviorism, in which language learning is regarded as similar
in principle to any other kinds of learning.

Characteristics of a good language learner does NOT include :
(A) Pay attention to both form and meaning

(B) Use strategies for taking charge of their own learning

(C) Flexible in their use of cognitive strategies

(D) Limited use of metacognitive strategies
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5. Developmental errors in second language learning
(A) needs to be corrected immediately
(B) can be avoided
(C) may be due to overgeneralization
(D) only occurs when there is interference from learner’s L1

6. Which of the following words starts with a velar, and ends with a fricative?
(A) knott
(B) garnish
(C) codial
(D) chasm

7.  Which of the following statements is true?
(A) The underlined part in the following sentence “My little brother is cute.” constitutes a
constituent.
(B) The word “saber tooths” is an endocentric compound.
(C) The word “reconstruction’ contains three morphemes, and four syllables.

(D) The semantic relation between the following two sentences “Jack is a bachelor.” And “Jack is
married.” is entailment.

8. Which of the following statements is true?
(A) Hypercorrection refers to the over- or under-use of a variant as a result of its prestige value.
(B) In English, stress is a phonemic feature, while intonation isn’t.

(C) According to binding principle B, a pronominal must have an antecedent that c-commands it in
the sam minimal IP.

(D) There is no logical relation between form and function in language. The characteristics is
termed as the property of duality.

9. Consider the following sentences containing primble, a hypothetical verb:
a.Tom is primbling her parakeet with a garden hose.
b.Tom primbled her brother in the dining room.
c.Little Freddy might primble the parakeet.
d.*Little Freddy primbled with a garden hose.
e.*Little Freddy shouldn’t primble.

Based on these data, what is the best statement of the subcategorization restrictions on primble?
(A)must be followed by both NP and PP

(B) can be followed by NP, must be followed by PP

(C) must be followed by NP, can be followed by PP

(D)does not have to be followed by either NP or PP

10. Which of the following set of conversational exchange contains a generalized conversational
implicature?
(A)(a): What did you think of the movie?
(b): Well, the supporting actor was great.
(B) (a): Do you have any pets?
(b): Yes, I have two dogs.
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(C) (a): Did you take all the linguistics courses?
(b): I took some of them.

(D)(a): Did you call John and Mary for the party tonight?
(b): I called Mary.

Define the following terms with an illustrative example. (* 648 > * 454 » &
30 &)

Backsliding

Language ego
Form-focused instruction
structural ambiguity
anaphoric reference
diacritic marks

.Answer the following questions. (& 44 » * 38 10 & » % 40 &)

Is there a place for the explicit teaching of grammar rules in elementary school? If so, which rules
would you teach? Under what conditions and how? Please support your opinions with examples and
research/theoretical basis.

If you were asked to teach different age groups, what pedagogical modifications would you employ
when you teach adults English and when you teach children English?

In terms of X-bar framework, draw the tree diagram for the following two sentences:
(a) The car that Jane bought was from England.
(b) The fishermen think that the company polluted the bay.

Examine the following data from language X, and answer the questions that follow:

(@) [Injf] ‘life’ (9) [ph1t] ‘pill’
(b) [lip] ‘leap’ (h) [fit] ‘feel’
(©) [lu:z] ‘lose’ (1) [hetp] ‘help’
(d) [ilowp] ‘elope’ () [batk] ‘bulk’
(e) [dilajt] ‘delight’ (k) [sowtd] ‘sold’
(P [slip] ‘sleep’ (D [fut] “full’

Do [I] and [t] belong to separate phonemes or are they allophones of the same phoneme? If you

think they belong to separate phonemes, give your evidence. If you think they are allophones of
the same phonems, give your distribution statement in rule form by making refence to syllable
structure.
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